
x


x

� Cn
X Zi

a
x

µ
�

n
K�

X Zi

a

= x


x

� Cn
X Zi

a

x
µ−
�ν x

ν
� Cn←−−−

i

a
+

x b

j

� Cn−−−→
i

a
ν�

j

b

X Z group

inv
= det

x

−
� x�

{
nj

b

ν�
j

b

x

�b DnX Zi

a x

a

i

{
n
�

+
x

µ
�b Dn←−−−−

i

a
+

x b

j

�b Dn−−−−→
i

a
µ�

j

b
+

x
µ−
�bν

ν�
i

a

X Z
µ

x

a

i

{
n
�

Lie alg

inv
=

x
µ−
�bµ

x

{
n
�

+
x�bν

ν

x

{
n
�

x

�b DnX Zi

a = ∂t

x

�t Cn
X Zi

a

x�b = ∂t

x�t� ∂t

x
·−
�·

t

P R

= ∂t

x
·−
�·

t
Q S

=
x
·−
�b·

Q S

=
x
µ−
�bµ

LHS = ∂t x


x

�t Cn
X Zi

a

x
µ−
�ν

t

x

ν
�t Cn
X Zi

a
+

x b

j
�t Cn
X Zi

a
ν�

j

b

Y [

= ∂t

x
·−
�·

t

P R
x�t

{
n
�

= ∂t

x
·−
�·

t

P R

x

{
n
�

+ ∂t

x�t

{
n
�

= RHS

xν :ni

a : µ�
i

a � Rd:RN

M
:

d
RN

M

�b |C:
µ

−−−−−−−−→
el current

R �
x

�b |n:�
µ

x

�b |n:�
µ

=
x�bν

ν�
i

a +
x

�b DnX Zi

a
Y [

µ

x

a

i

{
n
�
− x�bµ

x

{
n
�

=
x

�b DnX Zi

a

µ

x

a

i

{
n
�

+
x�bν

ν�
i

a

µ

x

a

i

{
n
�

− νδ
µ
x

{
n
�

X Z

¿:¿

π

��

¿:¿ � n
� Coo

π

��
x � ¿

�
// ¿ � x�

x

� Cn
X Zi

a



[
−
¿� Cn

−
¿x

]

−π� Cn

��

[
−
¿n
−
¿x�

]� C−−→n

x� C←−−
0

x−1

−
�

oo

−πn

��

−
¿x

x

−
�

//

[
�

n
K�
ı

]
OO

−
¿x�

[
�
ı

]
OO

� C−−→n

x� C←−−
0

x−1

−
�

=

b

c
� Cn−−−→

i

a

x

ν
� Cn←−−−

i

a

0
x
µ

−1

−
�ν

�
n
K�

X Z

= � C−−→n

x

−
��
Y [

+
x� C←−−

x

−
�

�
n
K�

X Z

ı
=

� C−−→n

x� C←−−
0

x−1

−
�

x

−
� �

ı
=

� C−−→n

x� C←−−
0

x−1

−
�

x

−
��
x

−
� =

� C−−→n

x

−
��
Y [

+
x� C←−−

x

−
�

ı

x

µ

�
n
K�

X Zi

a
=

x
µ−
�ν x

ν
� Cn←−−−

i

a
+

x b

j

� Cn−−−→
i

a
ν�

j

b

X Z

x
ν

−1

−
�µ

x

µ

�
n
K�

X Zi

a
=

x

ν
� Cn←−−−

i

a
+

x b

j

� Cn−−−→
i

a
ν�

j

b

x�
n
K�

X Z

= � C−−→n
xx

−
�

Y [

�
X Z

−π� CnX Z x� n
K�

X Z

Y [

= x

−πn xb � = xb � LHS = −π� Cn
X Z � C−−→n

xx

−
�

Y [

�
X Z

= −πn x
x

−
�

Y [

�
X Z

Y [

x

−
�−1

= xx

−
�

Y [

x

−
�−1

= x



¿:¿

π

��

¿:¿
� C

oo

π

��

¿:¿
�b |

oo

� �b |
uu

π

��
¿

� //

� �b

55¿
�b // ¿

x:¿ x�:¿

x

� C
X Z

oo x��b:¿ =
x

�b �X Z

:¿
x

� �b
Y [

C
X Z

ll

x�
�bCX Z

oo

x

� �b
Y [

Cn
X Zi

a
=

x

� C
x�
�b CnX Z

X Zi

a
=

x

� |
x�
�b DnX Zj

b

i

a



−
¿

� �b |n
−
¿x

−π � �b |n

��

−
¿
�b D nX Z

−
¿x�� C−−→

�b C nX Z

x� C←−−

0
x−1

−
�

oo

−π�b D nX Z

��

−
¿n

−
¿x��b�bC−→n

x�

−
�bCX Z

0
x�−1

−
�b

oo

� �bX Z

C−−−−→n

x

−
� �b
Y [

C
X Z

0
x −1

� �b
tt

−πn

��

−
¿x

x

−
�

//

x� �b

44

� �b |n:�
ı

OO

−
¿x

x�
−
�b

//

�b |n:�
ı

OO

−
¿x��b

�
ı

OO



x

µ
� �b |n:�

i

a
=

x

µ

� |
x�
�b DnX Z

:

x�

ν
�b |n:�

i

a

c

k

� �bX Z

Cn−−−−−−→
i

a

x

λ

� �bX Z

Cn←−−−−−−
i

a

0
x −1

� �b
=

� �bX Z

C−−−−→n

x

−
� �b
Y [

C
X Z

0
x −1

� �b
=

� C−−→
�b C nX Z

x� C←−−

0
x−1

−
�

�bC−→n

x�

−
�bCX Z

0
x�−1

−
�b

=

b

j

� C�b CnX Z

−−−−−−−→
i

a

x

κ
� C�b CnX Z

←−−−−−−−
i

a

0
x−1

−
�

c

k
�b DnX Zj

b

x�

λ
�b DnX Zj

b

0
x�

λ

−1

−
�bκ

�


x c

k

� �bX Z

Cn−−−−−−→
i

a
=

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

x� c

k

�b Cn−−−−→
j

b

x

λ

� �bX Z

Cn←−−−−−−
i

a
=

b

j

� C
x�
�b DnX Z

−−−−−−−−−→

i

a

x�

λ
�b DnX Zj

b
+

x�
λ

−1

−
�bκ

x

κ� C
x�
�b CnX Z

X Zi

a

�

x
ν

−1

−
�µ

LHS =
x
ν

−1

−
�µ x

µ
� �b λ x

λ

� �bX Z

Cn←−−−−−−
i

a
+

x c

k

� �bX Z

Cn−−−−−−→
i

a
λ�

k

c

X Z

=
x�

ν−
�bλ

x

κ
� C

x�
�b CnX Z

X Zi

a

x�
λ

−1

−
�bκ

+

x�

λ
�b DnX Zj

b

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

+

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

x� c

k
�b DnX Zj

b λ�
k

c

X Z

=
x�

ν−
�bλ

x�

λ
�b DnX Zj

b

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

+

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

x� c

k
�b DnX Zj

b λ�
k

c

X Z

+

x�
ν−
�bλ

x�
λ

−1

−
�bκ

2

(
= νδ

κ
) x

κ
� C

x�
�b CnX Z

X Zi

a

=

x

ν
� C

x�
�b CnX Z

X Zi

a
+

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

x�
ν−
�bλ

x�

λ
�b DnX Zj

b
+

x� c

k
�b DnX Zj

b λ�
k

c

X Z

=

x

ν
� C

x�
�b CnX Z

X Zi

a
+

x b

j

� C
x�
�b CnX Z

−−−−−−−−−→

i

a

x�

ν

�b |n:�
j

b

=
x
ν

−1

−
�µ

RHS

x

� |C
i

a
=

x

� |x �C
i

a

x

b:C
i

a
=

d

dt

x

�t:C
i

a

=
x\bν x

ν
b:C

i

a
+

x
ν−
Cj

b

b

j
b:xC

i

a
Y [


